Chemistry 115 - 4017




Name 






Dr. Cary Willard

Quiz 4A (20 points)




September 29, 1998

All work must be shown to receive credit.

Avogadro's number = 6.02 x 1023 / mole

1. (8 points) Fill in the following chart.

Ion name
Ion formula

Sulfite ion


Nitrate ion



ClO4-1


PO4-3

2. (4 points) Define the term ionization energy.

3. (4 points) Write an equation for the reaction below and balance it:

Silver hydrogen carbonate (AgHCO3) decomposes by heating to give solid silver carbonate, steam, and carbon dioxide gas.

4.  (4 points) How many atoms of silicon are there in 5.29 moles of Si?

Chemistry 115 - 4017




Name 






Dr. Cary Willard

Quiz 4B (20 points)




September 29, 1998

All work must be shown to receive credit.

Avogadro's number = 6.02 x 1023 / mole

1. (8 points) Fill in the following chart.

Ion name
Ion formula

Carbonate ion


Phosphite ion



BrO-1


NO3-1

2. (4 points) Define the term ionization energy.

3. (4 points) Write an equation for the reaction below and balance it:

Barium hydrogen carbonate (Ba(HCO3)2) decomposes by heating to give solid barium carbonate, steam, and carbon dioxide gas.

 (4 points) How many atoms of silicon are there in 6.74 moles of Si?
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Dr. Cary Willard

Quiz 4C (20 points)




October 2, 1998

All work must be shown to receive credit.

Avogadro's number = 6.02 x 1023 / mole

1. (4 points) Write an equation for the reaction below and balance it:

Lead is heated with phosphorus to yield solid lead(II) phosphide

2. (4 points) How many atoms of chromium are there in 9.35 moles of Cr?

3. (4 points) How many moles of oxygen are there in 4.25 moles of silver permanganate (AgMnO4)?

4. (4 points) How many moles of silver permanganate are there in 49.42 grams of silver permanganate?

5. (4 points) How many molecules of water are there in 4.22 g of water?
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Dr. Cary Willard

Quiz 4D (20 points)




October 2, 1998

All work must be shown to receive credit.

Avogadro's number = 6.02 x 1023 / mole

6. (4 points) Write an equation for the reaction below and balance it:

Iron is heated with fluorine to produce iron(III) fluoride.

7. (4 points) How many atoms of chromium are there in 6.87 moles of Cr?

8. (4 points) How many moles of oxygen are there in 6.55 moles of silver permanganate (AgMnO4)?

9. (4 points) How many moles of silver permanganate are there in 58.32 grams of silver permanganate?

10. (4 points) How many molecules of water are there in 5.71 g of water?

